SEV-25FZ

KOSHIN

BI{% SEV-25FZ-AAA-1 <K35) (012928505)

*EREHE TACERALTVAERTY. AUBTRHYEEA
* RoRMlitE (I ERR—EH 7 Y OBRE NEMIE TS

No. | #@I—K ®m & & EREY R A % B B fi§ =
1| 012207401 | SE-25 K77°%- A (KOSHN DI A) 1 4,500
2| 011025612 | SE-25 737%'7 3%y 1 3,300
3| 011025511 | SE-25;@%&= 1 2,200
4| 012008101 | SE-25FH /A5 1| ADC 1,300
5| 011332503 | SE-25X RAT S 1| ADC 750
6| 011332601 | SE-25X F+ v */\ILT 1 | NBR 650 N
7| 011011401 | SE-25 (N FHRET v v — 3 | BSP 100 N
8| 014801003 | 15 AFSH 4= 1 400 | PA-155(4971770-102149)
9| 011845003 | 32AFS54 4= 1 700 | PA-157(4971770-102163)
10 | 743119032 | MAMNFEILREEHEANABRIL b 7 | M6 X2 0SWRM 100 N
11| 890255031 | OY»¥ 1| 1517-31 NBR 250 N
12 | 889855042 | Oy 1 | P42 NBR 100 N
13| 743119045 | MAMNEISRESEASRAERI 2| M8X 20 SWRM 100 N
14 | 743119046 | MAMFEILRESHEANEBRIL b 2 | M8X 22 SWRM 100 N
15| 743119047 | MAN FTRESHEANRERIL ~ 2 | M8 X 25 SWRM 100 N
16 | 734532057 | ANAIMIARIL B 4| M6 X4 0SCM 150 N
17 | 854255006 | ¥ - WIyye 4| ¢6 100 N
18 | 011556401 | BFEIT7Y N yiy 1| CR 150 N
19 | 011068503 | SE-25 *pzfilby - b 1| BEH791 ¢ 16 3,100
20 | 011819301 | SE-25 AV -F-43 (#EY}Y) 1 950
21| 940019032 | R—R/NV KR (¢ 32) 3] ¢32 150 N
22 | 011383701 | SE-25 EAKR—R 1] 1"X3M 4,050
23 | 011712603 | SEI-25H X—RX & = 1| #HIRN—2R 2,950
24 | 012201504 | K35-A3-P I/y'y (=RkER) 1 | EPA IREIXIE -
25| 011427705 | SEG-25X-A0 M/h ) 1| STKM B2URY 1,750
26 | 011648701 | SE-25FZ N AR\ —#- 1| SPC T45 500
27 | 012245902 | SEV-25FZ-AAA-1 &tk 1| FhAv7 (A 100 N
28 | 940019026 | R—R/IN> KR (¢ 26) 1 150 N
29 | 940019022 | R—R/INV KR (¢ 22) 1 100 N
30 | 034078401 | SM25 25X 1 5MMDF=v 7 I 1| ABS AG15AT1 & 250

OEMEZAREBRORTIIToTEY KA,

DB FER<EET B EBHYEY,

OXRTMIRICHERIEENTEY A,

OZFHFRIZHEDBIDPYETS,



SEV-25FZ

KOSHIN

* ERERIE 1 BICERLTVSEHTY, AUBTRHYEHEA

BIX4E SEV-25FZ-AAA-1 <K35) (012928505) % FREAE AR — B U OBEE NS T
No. | EBEI—R B R & EREY R s - M OHE B i =

31| 012174501 | SE-25 25- #iy7 Yv) 1| ABS GTR10 & 350 N

32| 034078301 | SM25 25X 2 0¥TDF=v I 1 | ABS 250

33 | 034006502 | SM-25 hy7" Uys Ny 1] CR 200 N

34| 012165901 | SE-25 25 ¥fDFzy7l 1| ABS ¢ 265 250

35| 888305042 | EMFAL-&EH 1| ¢ 42 SUS 650 N

36 | 011555701 | Yyy an'=4- 1| ¢ 42 BSP 250 N

37 | 011554401 | 757%'N'-2 1 2,500

38 | 889855036 | OYr4 P36 NBR 2 | P36 NBR 70" 100 N

39 | 011554301 | SE-25Z 75 > UAE 1 1,100

40 | 011742901 | SE-25Z BH#ETZS VYU = 1 4,300

41| 011380701 hhByIN %7 CYN £F)25mm 1 | NBR 400 N

42 | 011380301 | hhAysZAfk 25mm 1| PBT 800

43 | 011748901 | SE-25 hhOy)4r/as3 1 1,600

44 | 011402801 | hhmyIZA{EN v (25mm) 1 | NBR 400 N

45| 011848001 | SE-25 9/49Fhy7 Uy 43 1 3,200 | PA-11(4971770-100060)

46 | 889855040 | O U4 1| P40 100 N

47 | 889855018 | O U 4 1| P18 100 N
012246002 | SEV-25FZ ER$REHEAE (B[] 1| A4 300 N

OEMIZAREBRORTIIToTEY KA,

DB FER<EET B EBHYEY.

ORTMIRICHERIEENTEY A,

OZHFRIZHEDB PPV ETS,



